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If one of the regression coefficients is
greater than unity, the other must be :

(A) More than unity

(B) Less than unity

(C) Unity

(D) None of the above

Standard deviation is calculated from the
Harmonic Mean (HM) :

(A) Always

(B) Sometimes

(C) Never

(D) None of the above

Suppose for 40 observations, the
variance is 50. If all the observations are
increased by 20, the variance of these
increased observations will be :

(A) 50

(B) 70

(C) 50/20

(D) 50-20=30

The variance of 5 numbers is 10. If each
number is divided by 2, then the variance

of new number is :
(A) 20
(B) 5
(C) 25
(D) 55
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The  regression  coefficients  are

independent of change of origin but :
(A) Not of scale

(B) Also of scale

(C) No change in scale

(D) None of the above

The coefficient of correlation between
the regression coefficients is :

(A) Arithmetic Mean

(B) Geometric Mean

(C) Average

(D) None of the above

The correlation coefficient is used to

determine :

(A) A specific value of the y-variable
given a specific value of the x-
variable

(B) A specific value of the x-variable
given a specific value of the y-
variable

(C) The strength of the relationship
between the x and y-variables

(D) None of the above
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8.  The lowest value of variance can be :

(A) 1

B) -1

© o

(D) -3

9.  The marks obtained by 9 students in a
test are 25, 20, 15, 45, 18, 7, 10, 38 and

12. Find the median :

(A) 38

(B) 20

(C) 18

(D) 15

10. In a moderately ~ asymmetrical

distribution, the mode and mean are 32.1

and 35.4 respectively. Calculate the

median :

(A) 35

(B) 34.3

(C) 36

(D) 37

11. If there is a very strong correlation
between two variables, then the
correlation coefficient must be :

(A) any value larger than 1.

(B) much smaller than 0, if the
correlation is negative.

(C) much larger than 0, regardless of
whether the correlation is negative
or positive.

(D) None of the above alternatives is
correct.
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12.

13.

14.

15.

In regression, the equation that describes
how the response variable (y) is related to

the explanatory variable (x) is :
(A)
(B)
(©)

the correlation model

the regression model

used to compute the correlation
coefficient

(D) None of the above

In regression analysis, the variable that is
being predicted is the :

(A) response or dependent variable
(B) independent variable

(C) intervening variable

(D) isusually x

In a moderately skewed distribution, the
mode and median are 20 and 24
respectively. Calculate the value of
mean :
(A) 27
(B) 26
(C) 25
(D) 28

The mean weight of 150 students in a
class is 60 kg. The mean weight of boy
students is 70 kg and that of girl students
is 55 kg. Find the number of boys and
girls in the class :

(A) 50and 100

(B) 100 and 50

(C) 150 and 200

(D) 200 and 150
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16.

17.

18.
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In regression analysis, the variable that is

used to explain the change in the

outcome of an experiment or some
natural process, is called :

(A) the x-variable

(B) the independent variable

(C) the predictor variable

(D) the explanatory variable

If the coefficient of determination is a

positive value, then the regression

equation :
(A) must have a positive slope
(B) must have a negative slope

(C) could have either a positive or a

negative slope

(D) must have a positive y intercept

A distribution consists of three

components with total frequencies of
200, 250 and 300 having means 25, 10
and 15 respectively. Find the mean of the

combined distribution :
(A) 17
(B) 16
(C) 15

(D) 20

(5)

19.

20.

21.

The percentage of values lies between
X-+2SD.is:

(A) 68.26%

(B) 95.45%

(C) 99.7%

(D) 65%

The sum of squares of deviation is least

if measure from :

(A) Mean
(B) Mode
(C) Median

(D) Variance

If two variables x and y, have a very

strong linear relationship, then :

(A) there is evidence that x causes a

change iny.

(B) there is evidence that y causes a

change in x.

(C) there might not be any causal

relationship between x and y.

(D) None of the above alternatives is

correct.
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22. If the coefficient of determination is
equal to 1, then the correlation
coefficient :

(A) mustalso be equal to 1

(B) canbeeither—1or+1

(C) can be any value between — 1 to
+1

(D) mustbe-1

23. Variance is always calculated
from :

(A) Mode
(B) Variance
(C) Mean
(D) Median

24. The arithmetic mean is 12 and the
number of observations is 20, then the
sum of all the values is :

(A) 8
(B) 32
(C) 240
(D) 1.667

25. The method used to compute average or
central value of the collected data is
considered as :

(A) measures of positive variation

(B) measures of central tendency

(C) measures of negative skewness

(D) measures of negative variation
BCOMH-2001
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26.

217.

28.

29.

30.

What is the median of the data 78, 56,
22,34, 45,54, 39, 68, 54, 84 ?

(A) 54

(B) 53

(C) 55

(D) 51

The measure of dispersion can never be :
(A) Positive

(B) Negative

C© o

(D) 1

The sum of squared deviations of a set of

n values from their mean is:
(A)
(B)
(©)
(D)

Zero

Maximum

Least

None of the above

In regression analysis, if the independent
variable is measured in kilograms, the
dependent variable :

(A)
(B)
©)
(D)

must also be in kilograms
must be in some unit of weight
cannot be in kilograms

can be any units

The mean or average used to measure

central tendency is called :

(A)
(B)
(©)
(D)

sample mean
arithmetic mean
negative mean

population mean
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31.

32.

33.

34.
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If the mean of percentages, rates and
ratios is to be calculated, then the central
tendency measure which must be used in
this situation is :

(A) weighted arithmetic mean

(B) paired arithmetic mean

(C) non-paired arithmetic mean

(D) square of arithmetic mean

In the quartiles, the central tendency
median to be measured must lie in :

(A) first quartile

(B) second quartile

(C) third quartile

(D) four quartile

The strength (degree) of the correlation
between a set of independent variables
X and a dependent variable Y is
measured by :

(A) Coefficient of correlation

(B) Coefficient of determination

(C) Standard error of estimate

(D) All of the above

The
dependent variable Y explained by the

percent of total variation of the

set of independent variables X is

measured by :

(A) Coefficient of correlation
(B) Coefficient of skewness

(C) Coefficient of determination
(D) Standard error

(7)

35.

36.

37.

38.

39.

is particularly suitable for the

construction of index nos.

(A) H.M.
(B) A.M.
(C) G.M.

(D) None of the above

Find the mean of x + 77, x + 7, x + 5,
x+3andx—27?

(A) x+8

(B) x+18

(C) x-8

(D) x-18

The measure of dispersion is changed by
a change of :

(A) Origin

(B) Scale

(C) Algebraic signs

(D) None of the above

The standard deviation is always

than the mean deviation.
(A) Greater
(B) Less
(C) Equal
(D) None of the above

A dice is thrown. The probability of
gettingland 5is:

(A) 1/6

(B) 2/3

(©) 173

(D) 1/2
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40. A batsman hits boundaries for 44, If an event cannot occur, then its

6 times out of 30 balls. Find the

probability is :
probability that he did not hit the
boundaries : (A) 1
(A) 155 (B) 3/4
(B) 2/5
C) 12
(C) 35
D) 4/5 (D) 0
41. The probability of each event lies 45. Index nos. show changes rather than
between : absolute amounts of change :
(A) land2
A) Relati
(B) 1and10 (A)  Relative
(C) Oand1 (B) Percentage
(D) Oand5

(C) Both (A)and (B)
42. A series of numerical  figures (D) None of the above
which show the relative position

is called : 46. In Statistics out of 100, marks of 2l

(A) index no. students in final exams are as 90, 95, 95,

B lati .
(B) relative no 94, 90, 85, 84, 83, 85, 81, 92, 93, 82, 78,

(C) absolute no.
79, 81, 80, 82, 85, 76, 85, then mode of
(D) None of the above

data is :
43. The range of the scores 29, 3, 143, 27, 99

is: (A) 85
(A) 140 (B) 95
(B) 143

(C©) 90
(C) 146
(D) 70 (D) 81
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47.

48.

49,

50.

BCOMH-2001

If two dice are thrown in the air, then
probability of getting sum as 3 will be :
(A) 2/18
(B) 3/18
(C) 118
(D) 1/36

The ratio of price of single commodity in
a given period to its price in another
period is called the :

(A) base period

(B) price ratio

(C) relative price

(D) None of the above

If mean is less than mode, then

distribution will be :

(A) Positively skewed
(B) Negatively skewed
(C) Symmetrical

(D) None of the above

The shape of symmetrical distribution
is

(A) U-shaped

(B) Bell-shaped

(C) J-shaped

(D) None of the above

(9)

51.

52.

53.

54.

The algebraic sum of deviations from
mean is :

(A) Maximum

(B) Zero

(C) Minimum

(D) Undefined

Statistics is a numerical quantity, which
is calculated from :

(A) Population

(B) Sample

(C) Data

(D) Observations

What is the median of 33, 86, 68, 32, 80,
48,707
(A) 32
(B) 68
(C) 80
(D) 86

In a moderately skewed distribution, the
value of mean is 16 and that of mode is
25. What will be the value of median ?
(A) 20

(B) 19

Cc) 21

(D) None of the above
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55. For a symmetrical distribution, Q; and 59.

Qs are 20 and 60 respectively. The value
of median will be :

(A) 20

(B) 30

(C) 40

(D) 50

56. From which average, the sum of
deviations is zero ?
(A) Mean
(B) Median
(C) Mode

(D) None of the above

61.

57. In statistics, a sample means :

(A) A portion of the sample
(B) A portion of the population
(C) All the items under investigation

(D) None of the above

62.

58. If there is no gap between the
consecutive classes, the limits are called :
(A) Class limits
(B) Class boundaries
(C) Class intervals

(D) Class marks

BCOMH-2001 (10)

60.

If the arithmetic mean is multiplied to

coefficient of varialion, then the resulting

value is classified as :

(A)
(B)
(©)
(D)

coefficient of deviation
coefficient of mean
standard deviation

variance

If mean absolute deviation of set of

observations is 8.5, then the value of

quartile deviation is :

(A)
(B)
(®)
(D)

7.08
9.08
10.2
11.2

For a positively skewed distribution,

mean is always :

(A)
(B)
(©)
(D)

Less than the median
Less than the mode
Greater than the mode

Difficult to tell

In inferential statistics, we study :

(A)

(B)

(©)

(D)

The methods to make decisions
about the population based on

sample results.
How to make decisions about

mean, median or mode.

How a sample is obtained from a

population.

None of the above
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63.

64.

65.

66.
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The data which have not undergone any 67.

statistical treatments are :
(A) Primary data

(B) Secondary data

(C) Discrete data

(D) Continuous data

68.

If the sum of deviations from median is
not zero, then a distribution will be :

(A) Symmetrical

(B) Skewed

(C) Normal

(D) All of the above

The degree of peakedness or flatness of a
unimodel distribution is called :

(A) Skewness

(B) Symmetry

(C) Dispersion

(D) Kaurtosis

Data in the Population Census Report is :

71.

(A) Grouped data
(B) Ungrouped data
(C) Secondary data

(D) Primary data

(11)

69.

70.

The average to be used to determine the

average size of the shoe sold in a shop

IS:

(A) Mean
(B) Median
(C) Mode

(D) None of the above

Find the mode of 5, 3, 27,5, 9, 3,8, 5:
(A) 5
(B) 27
© 9
(D) 3

The
of
(A) Origin

(B) Scale

(C) Both origin and scale
(D) Units

mean is affected by the change

In a mesokurtic or normal distribution,
g = 243. The standard deviation is :

(A) 81

(B) 27

© 9

(D) 3

In a symmetrical distribution,
Q3— Q1 =20, median =15. Qzisequal to :
(A) 5

(B) 15

(C) 20

(D) 25
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72. The first 3 moments of a distribution 76.
about the mean are 1, 4 and 0. The
distribution is :

(A) Symmetrical

(B) Skewed to the left
(C) Skewed to the right
(D) Normal

73. Instatistics, conducting a survey means :

(A) Collecting  information  from 7.
elements

(B) Making mathematical calculations

(C) Drawing graphs and pictures

(D) None of the above

74. In a moderately ~ asymmetrical
distribution, the value of mean is 75 and 78.
the value of mode is 60. What will be the
value of median ?

(A 75
(B) 70
(C) 85
(D) 80
75. Given Mean = 70.2 and Mode = 70.5.
Find the Median using empirical 79.
relationship among them :
(A) 120
(B) 150
(C) 180
(D) 300
BCOMH-2001 (12)

When data are collected in a statistical
study for only a portion or subset of all
elements of interest we are using :

(A) Asample

(B) A parameter

(C) A population

(D) Both (B) and (C)

For a symmetrical distribution :
(A) B.>0
(B) B.<0
(C) B.=0

(D) B1=3

The second and fourth moments about
mean are 4 and 48 respectively, then the
distribution is :

(A) Leptokurtic

(B) Platykurtic

(C) Mesokurtic or normal

(D) Positively skewed

If any value in a series is zero, then we

cannot compute the

(A) Mean
(B) Median
(C) Mode

(D) Geometric Mean
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80.

81.

82.

83.
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The height of a student is 60 inches. This
is an example of :

(A) Qualitative data
(B) Categorical data
(©)

(D)

Continuous data

Discrete data

Bowley’s coefficient of skewness lies

between :

(A) Oand1l
(B) land+1
(©)
(D)

—land O
—2and +2

A card is drawn from the set of 52 cards.
Find the probability of getting a queen

card :

(A) 1/26
(B) 1/13
(C) 4/53
(D) 413

Which  one of the following
measurements does not divide a set of

observations into equal parts ?
(A) Quartiles

(B) Standard Deviations

(C) Percentiles

(D) Deciles

(13)

84.

85.

86.

Which one is not the measure of
dispersion ?

(A) The Range

(B) 50th Percentile

(C) Inter-quartile Range

(D) Variance

In a moderately skewed distribution, the
value of mode is 120 and that of median
is 140. Find the value of arithmetic
mean :

(A) 150

(B) 160

(C) 170

(D) 180

The arithmetic mean of the marks
obtained by 50 students was calculated as
44. It was later discovered that a score of
36 was misread as 56. Find the correct
value of arithmetic mean of the marks
obtained by the students :

(A) 43

(B) 43.6

(C) 45

(D) 50
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87. Half of the difference between upper and
lower quartiles is called :
(A) Interquartile range
(B) Quartile deviation
(C) Mean deviation
(D) Standard deviation
88. If Q3 =20 and Q; = 10, the coefficient of
quartile deviation is :
(A) 3
(B) 1/3
(C) 253
(D) 1
89. If the quartile range is 24, then the
quartile deviation is :
(A) 48
B) 12
(C) 24
(D) 72
90. The sum of all the squared deviations is
divided by the total number of
observations to calculate :
(A) population deviation
(B) population variance
(C) sample deviation
(D) sample variance
BCOMH-2001 (14)

91.

92.

93.

If the sum of squares of the rank
differences of 10 pairs of values is 30,
find the correlation coefficient between

them :

(A) 0.75
(B) 0.82
(C) 0.90

(D) 0.83

The measure of dispersion which uses
only two observations is called :

(A)

(B) Quartile deviation

Range

(C) Mean deviation

(D)

Standard deviation

In a bivariate sample, the sum of squares

of differences between marks of
observed values of two variables is 33
and the rank correlation between them is
0.8. Find the number of pairs of
observations :

(A) 12

(B) 10

(C) 15

(D) 18
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94.

95.

96.
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In a bivariate distribution, Spearman’s 97.
coefficient of correlation is — 0.25. If the
sum of the squares of various ranks is
150, find out the number of pairs of

items :
(A) 10
(B) 8
©) 9

(D) 7

98.
For the recorded observation, the ratios

measured by absolute variation are

considered as :

non-relative measures

(A)
(B)

relative measures
99.

(C) high uniform measures

low uniform measures

(D)

Variance remains unchanged by the

change of :

100.

(A) Origin
(B) Scale
(C) Both origin and scale

(D) None of the above

(15)

The rank correlation coefficient of a

debating contest involving 10

participants was calculated as 0.6.
However, it was later discovered that the
difference in the ranks of some
participants was read as 8 instead of 3.

Find the correct correlation coefficient :

(A)
(B)
(®)
(D)

0.933
0.652
0.854
0.751

If Y =-—8X-5and S.D. of X is 3, then
SD.ofYis:

(A) 8

(B) 3

€ 5

(D) 24

The regression coefficient of X on Y is :
(A)
(B)
(©)
(D)

bxy

bYX
Not specified

None of the above

Regression coefficient of Y on X is :
(A)
(B)
(©)
(D)

bXY

byx
Not specified

None of the above
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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